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Using SAS Similarity

If you already have a pair of congruent angles in two triangles, you only need to prove that 2 pairs of sides are proportional
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Triangle Similarity Theorems
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If ZA = £D and 4B = ZE,

then AABC ~ ADEF.

SAS Similarity Theorem
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In Exercises 5 and 6, find the value of x that makes
AXYZ. (See Example 2.)
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Is either ADEF or AGHJ similar to AABC?
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SOLUTION
Compare AABC and ADEF by finding ratios of corresponding side lengths.
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sides sides
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P Al the ratios are equal, so AABC ~ ADEF
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In Exercises 3 and 4, determine whether AJKL or
ARST is similar to AABC. (See Example 1.)
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In Exercises 13-16, show that the triangles are
similar and write a similarity statement. Explain
your reasoning.
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